1 2 3 | 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A NEW RELEASE LJH 08/13/05' Y LJC 08/13/05’
ITEM PART NAME Q'ty NOTES B B YCH 09/13/07’ a2 LJC 05/20/10’
— ‘ ~N~— ! PLASTIC HOOD 2 ABS C ERM3* 1284 9M3+10 | YCH 08/30/10° Y2 LJC 08/30/10Q
[IEJ'—H | I"H 0 , |2:1] LONG BOLT 2 #4—40 E DRAWING UPDATE | JLZ 06/02/25’ "
~
- ‘ - 2.2 SHORT BOLT 2 #4—40 NOTES:
L 3 NUT 2 M3 T )
24.99 , NG SCREW 5 vE 1. PART NUMBER CODE:
5 SMALL WASHER 2 DS1046 — 09 X X X X = X
6 SHORT SCREW 2 M3 LLogo support
7 METAL WASHER 2 M3 X: W/O Logo
30.8 N/A Code: W/ Logo
12.0 Washer type
1 1: Metal
— | — Bolt type
I ‘ I L: Long
! - S: Short
‘ ——Packing type
i 1: Mix packing
n
| ; © Cover Material
‘ 1 - —H C: Chromium plating
. [@ L } E_ @ @ Position
‘ D — — 09: 9pin
|
t\l__‘_l/t// %EJ SHORT SCREW 2—\ 143405
4—40 UNC
_ \ = M3 3
> AV
! " —{ - -3
7.0 0 ° W 5.4
| E =
N, | —1 / 5, M3 3§ MBShort BOLT . UNT t=2.3mm
11.840.5 4 \ 4.8
: J Z o 10.040.5 /_ |
I 0 @3_2 |
=< | 00|
: = ¢ ¥l |
o 16.2+0.5 j
coeel Metal LONG SCREW
\ SMALL WASHER
@ ’E:HE - El‘ e GENERAL TOLERANCE| ANGLE TOLERANCE - TITLE
PROJECTION @ = 4 D—SUB 9pin Hood Chromium Plated
6405 2 X. +0.60 X. %5 UNITS mm
44 H X *0.38 X x3 SHEET SIZE A4 SERIES | DS1046 SERIES
b5\ XX £0.25 XX 22
»
DRAWING TYPE |COSTOMER Jt% gfﬂ EE % ﬁ BE /A.\ E,‘—J
Long BOLT SCALE 1:1 [SHEET [1 OF 1
DRAWING NO. | C—DS1046—09XXXX—F connFLy CONNFLY ELECTRONIC CO. LTD
1 2 3 4 | 5 6 I 7 I 8



Administrator
11


1 2 3 I 4 5 I 6 I 7 I 8
BOM LIST REV. DESCRIPTION DRAWN CHECKED APPROVED
’ A NEW RELEASE LJH 05/18/05’ ~ LJC 05/18/05’
ITEM | PART NAME Qty NOTES B 3 ] YCH 09/13/07’ ~ LJC 09/13/07’
/_”—4—h_\ 1 PLASTIC HOOD 2 ABS F DRAWING UPDATE JLZ 06/02/25’ ~
U—M—U 5 [21] LONG BOLT 2 #4—40
~ ‘ ~ 2.2| SHORT BOLT 2 #4-40 NOTES: ; .
1. PART NUMBER CODE:
‘ 33.32 ‘ 3 NUTG = 2 | M3 DS1046 — 15 X X X X — X
4 LON REW 2 M3 TTT
| 39.2 ! LLogo support
5 SMALL WASHER 2 X: W/O Logo
6 SHORT SCREW 2 M3 N/A Code: W/ Logo
7 METAL WASHER 2 M3 Washer type
1: Metal
Bolt type
L: Long
1 S: Short
_\ ( N —Packing type
1: Mix packing

B

——  Cover Material

C: Chromium plating
ol _ COnneLy Position
G~ 15: 15pin
M ﬂ: EB 4-40 UNC
K 7 L I W | A— -
— Short BOLT
8.0 3
M3
7 O
6.9 2 i LONG SCREW 54
’ * ‘ N T UNT t=2.3mm
‘ — ‘ !
[ | QJ'W M3 6 5 4.8
7.7£0.5 |
A \ ! 2z >y @ ¢
| ﬁ@%@k 2 M3 ﬁ £0.5 _\ ‘
11.0+£0.5 74&7 l T | E
2 16.240.5 I~ o
Metal 1
_ [
A=2G b SHORT SCREW SMALL WASHER
\ GENERAL TOLERANCE| ANGLE TOLERANCE - TITLE
| PROJECTION [ @& [TME[ ) o 101 iood Chromium Plated
X. +0.60 X, +5° UNITS mm
6.6£0.5 o X +0.38 X +3 SHEET SIZE A4 SERIES | DS1046 SERIES
" 4 XX £0.25 XX £2
"
3 DRAWING TYPE |COSTOMER )1% }‘ﬂﬂ EE; % %‘ IEE /A\\ ETJ
: SCALE 1:1 [SHEET [1 OF 1
Long BOL DRAWING NO. | C—DS1046—15XxXX—F | comAFLY CONNFLY ELECTRONIC CO. LTD
1 2 I 3 4 | 5 6 I 7 I 8



Administrator
11


1 4 5 I 6 I 7 I 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A NEW RELEASE LJH 10/26/05’ ~ LJC 10/26/05'
ITEM | PART NAME Qty NOTES B g YCH 09/13/07’ ~ LJC 09/13/07’
54.0 1 PLASTIC HOOD 2| ABS D | DRAWING UPDATE JLZ 05/19/16' | HZW 05/19/16’ | LUC 05/19/16’
1| LONG BOLT 2 4-40 ,
47.04 | 2 {2 # F__| DRAWING UPDATE [ JLZ 06/02/25 ~
2.2| SHORT BOLT 2 #4-40
11.0 3 NUT 2 M3 NOTES:
1 \ 1 4 LONG SCREW 2 M3 1. PART NUMBER CODE:
-[Erl: ! :Pﬂ 5 SMALL WASHER 2 DS1046 — 25 X X X X — X
N T J 6 SHORT SCREW 2 M3 LLogo support
| 7 METAL WASHER | 2 | M3 X: W/O Logo
N/A Code: W/ Logo
Washer type
1. Metal
7 14.3+0.5 E.o‘totnype
] 4-40 UNC S Short
1.8 \ —Packing type
7\7\77 — 1: Mi‘x packing
Cover Material
C: Chromium plating
< Position
o ¥ Short BOLT 25: 25pin
= _ @
40.8
4.8
> |
7 o 3 |
2 b M3 i@é "
°, EER | )
[ i [ 24.0£0.5 i
| i | 18.040.5 M3
‘ / 54
& _A J UNT t=2.3mm )
v
Y
& M3
2 Metal
4—40 UNC
SHORT SCREW
N RN GENERAL TOLERANCE| ANGLE TOLERANCE
PROJECTION —C [TITLE
@ — 9 4D—SUB 25pin Hood Chromium plated
o . UNITS mm
66405 © X. +0.60 X. %5
B X £0.38 X 3 SHEET SIZE A4 SERIES | DS1046 SERIES
4430.5 3 XX £0.25 XX 2
Long BOLT DRAWING TYPE |COSTOMER = "‘M EE % %‘ I}E j
SCALE 1:1 [SHEET [1 OF 1 7
DRAWING NO. | C—DS1046—25XXXX—F | CORAFLY CONNFLY ELECTRONIC CO. LTD

4 |

5

6 | 7 | 8



Administrator
11


2 3 4 5 | 6 | 7 | 8

53

BOM LIST REV. DESCRIPTION DRAWN CHECKED APPROVED
T e B SR YCH 09/13,/07" ~ LIC 09/13/07
LONG BOLT 2 | #a-a0 D DRAWING UPDATE JLZ 05/19/16" | HZW 05/19/16" | LUC 05/19/16’
2 SHORT BOLT 2| 4420 F DRAWING UPDATE JLZ 06/02/25' ~
3 NUT 2 M3 NOTES:
4 LONG SCREW 2 M3 1. PART NUMBER CODE:
5 SMALL WASHER 2 DS1046 — 37 X X X X — L
Logo support
6 SHORT SCREW 2 M3 X: W/0 Logo
7 METAL WASHER 2 M3 N/A Code: W/ Logo
Washer type
1: Metal
Bolt type
1 L: Long
S: Short
29.8 9.70 Packing type
1: Mix packing
? 4 Cover Material
A/J C: Chromium plating
—Position
37: 37pin

conneLy

§ 1 © ©
I\
= =) 2
_\ 14.3+£0.5
Lo
—  —

1905 Short Bolt LONG SCREW

4.8

S [

3 :

N\ e : M 22N 2
13.70 1 \r 5 - l 2

ch | i

! 24,0405 oh SMALL WASHER
18.040.5 /MB
é ()| W% p UNT t=2.3mm 6
=] N2 M3
5 BN
2 Metal B
SHORT SCREW
4-40 UNC
N RAXIZZZZRS] GENERAL TOLERANCE| ANGLE TOLERANCE & [TILE . .
@ PROJECTION [ @ [TTLE | D—SUB 37pin Hood Chromium plated
. UNITS mm
0 X. *0.60 X. x5
6.6£0.5 = X +0.38 X £33 SHEET SIZE A4 SERIES | DS1046 SERIES
2 XX +0.25 XX £2

- DRAWING TYPE |COSTOMER @ }% }‘523 EE % ﬁ IKE /L\\ El‘j

SCALE 1:1 [SHEET [1 OF 1
Long BOLT
SRAWNG Mo T o—DST046—37x0—F | €OnnFLY CONNFLY ELECTRONIC CO. LTD

2 I 3 4 | 5 6 I 7 I 8



Administrator
11


2 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
A | NEW RELEASE JLZ 03/21/17' |HZW 03/21/17’ |LIC 03/21/17
B DRAWING UPDATE JLZ 05/23/18’ ~
C DRAWING UPDATE JLZ 06/02/25 ~
69.5
61.0
NOTES:
1. PART NUMBER CODE:
DS1046 — 50 X X X X — X
Logo support
X: W/0O Logo
N/A Code: W/ Logo
Washer type
1 1: Metal
11 538
\ Bolt type
= P N = —\ N L: Long

45.9

49.8

Packing type

1: Mix packing

Cover Material

C: Chromium plating

Position
50: 50pin

o,
UNCH4-40 \%

M3 2
12,72 %
| 5.4
39 540.5 6.0+£0.5
NUT t=2.3mm
22
I,') % BOLT
N A7
Q/ 1% 4
1 N.510.5
M3
LONG SCREW
6
5
M3
BOM LIST J @ &
ITEM PART NAME Q'ty NOTES LONG SCREW BIG WASHER
W CASTC 2 e GENERAL TOLERANCE| ANGLE TOLERANCE
2 BOLT 2 #4—40 PROJECTION @ﬂ TITLE | D—SUB 50pin Hood Chromium plated
3 NUT 2 M3 X. +0.60 X. +5° UNITS mm
4 M3*10 SCREW 2 M3 X +0.38 X x3 SHEET SIZE A4 SERIES | DS1046 SERIES
5 M3*12 SCREW 2 M3 XX +0.25 XX £2°
»
6 | BIG WASHER 2 | M3 DRAWING TYPE |CUSTOMER )I% #ﬁé{ EE; % %‘ I}E /A\ a
SCALE 1:1 [SHEET [1 OF 1
DRAWING NO. |C—DS1046—50XXX—B connFLy® CONNFLY ELECTRONIC CO.,, LTD
2 4 | 5 6 I 7 I 8



Administrator
11


